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17U/116/20(Set-1)
No. of Questions : 200
weEt @ wE - 200
Time :2—3; Hours ] 2 [ Full Marks : 600
w24 ] [ quif#: 660

Nete: (i} Attempt as many questions as you can. Bach question carries 3 (Three)
marks. One mark will be deducted for each incorvect answer. Zero mark
will be awarded for each unattempted question.

Fees e B v v B YIS HRG | TAF v 3 (eft7) oiwt @1 2
m$w$mWﬁ.mmewﬁﬁmﬁw
7 BT

(i) 1f more than one alternative answers seem to be approximate to the
carrect answer, choose the closest one, '

I v dafe o w8 e @ Pree wda 8 a1 Roedw 8 g ¥
() This paper comprises of foirr Sections : Mental Ability and General

Awareness, Chemistry, Physics and Biology (Botany and Zoology). Bach

Section containg 50 questions,

T W A R wvs ¥ e dvaw @ S e, @ R

Wit fasm= ud e Rrem= (Freafer o sfr frsm=) | el s # 50 wem ¥

SECTION - | '
_ , uvs ~|
(MENTAL ABILITY AND GENERAL AWARENESS)
(AR e & W T

1. Find out the average marks scored by 3 students together, if in an examination
Saumya scored 40% marks, Raju scored B0% marke-and Riya scored 624 marks
and the maximum marks are 800 ;

3 fenfifaY grer vt 69 19 sitmm e B TART A& W e ¥ W & 409, g
e mﬁ&n%mﬁmﬁm#maﬁmﬁmﬁmmﬁmﬂaﬁgmg:

(1) 500 (2) 528 (3) 623 {4) 510

) P.T.0.
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2. If a train of 200 m long running at 60 km/hr then how many seconds will it
take to cross another train of 300 m long running in opposite direction at a
speed of 90 km/hr 7

(1) 8sec. (2) 14 sec. (3) 9 sec. (4) 12 sec.
@ e W 200 He R ¥ wer 60 Fflo/HE 1 wwOR @ WA B @ TN
TR 300 Fro wEd ¥ dqer fawd few 4 90 flo /e o v w S #, B

IR B

(1) 8%o (2} 14 %o (3} 9% (4) 12¥e
3. 1C chips in Computer are made of :

{1} Lead (2) Silicon (3) Chromium {1) Gold

FgeY § wye B9 aret 1C v e & 0 8§ 7

(L) e (2) Tfaam (3} gy (4) T
4. Which of the following is not & language of Computer Programming ?

(1) WINDOWS  {2) PASCAL {3) BASIC (4) COBOL

R 3 R B e WA A A T R

(1) frehig (2) urepe (3) AR (4) W
5. The planet which is closest to the earth is

(1) Mercury (2) Mars (3} Neptune (4) Venus

98 U ot geft @ waw TordE B, ¥

(1) & (2) T (3) T 4) go

6. If NOXG means LOVE, then ECMG means :
afa NOXG &1 arf LOVE &, @1 ECMG &1 el B

(1) CALF . (2) GOOD (3) CAKE @) CAIM
7. Find the odd one from the following

et 3% W e T TET FRY

(1) 16 (2) 80 (3) o4 (4) 36

8. From which date Goods and Services Tax (GST) has been implemented in

India ? .
(1) 1 Aprl, 2017 2) 1 May, 2017 (3) 1June, 2017 (4} 1]uly, 2017
ﬂﬂﬁﬁﬁﬁmﬁmﬁw (iforwedio) @ Ry T ?

01 7 @17 O I @ 1w
(2}
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11.

12.

13.
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[n India, Shri Rarm Nath Kovind has been elected as :

(1) 12th President (2) 13th President (3) 14th President (4) 15th President
ARG #, A RS B B G T R

() 13w () 139 Tl (3) WA wgER (@) 159 TRl

The Union Budget 2017-18 was presented in Parliament of India by :

(1) Shri Arun Jaitley {2) Shri P. Chidambaram
(3) Shri Manmohan Singh {4) Shei Narendra Modi
Bt a9 2017-18 R gy Wi R A Qe Ry T ?

(1) = %o A (2) &7t dro Rrgwmre

(3) A we Ry @) A T A

In a class of 60 students, the number of girls is twice that of boys. Kamal, a boy,
ranked seventeenth from the top. If there are 9 gitls ahead of Kamal, the
number of boys in rank after himis:

60 BT & wen ¥, Al B wham et & g ¥ wE, N v T & o
W Rl W W) afy o o e @ ow & o 5w aw ¥ ows aw
wEd! @ weEm ¢

(1) 3 (2) 7 (3) 12 (4) 13

A class starts at 11 : 00 am and lasts till 2.27 pm. Powr periods of equal duration

are held during this interval. After every period, a rest of 5 minutes is given to
the students. Thus, the exact duration of each period is :

(1) 48 minutes (2} 50 minutes (3) 51 minutes (4) 33 minutes
wwﬁaa}n:mmﬁmmzwyﬁmwm%rmm
ﬁmﬂmﬁaﬁw&ﬁﬁﬁlmw&a%mwaﬂ5ﬁﬁmﬁm
fu wmn ¥ 39 weR, AR 9v 9 U ey &

M) 48fme @ sofre  (3) 51fme @) 53 P

1f 3rd December, 1990 is Sunday, what day is 3rd January, 1991 ?

(1) Tuesday (2) Wednesday - (3) Thursday (4) Friday
afe 3 fewmr, 19903R@R &, & 3 9, 1991 Framr R 2 2

(1) H“*Tﬁfﬂi' 2 W‘ (3) TR (&) gwar

(3) PTO.



17U/116/20(Set-1)

14, Pointing to an old man Sohan said, "His son is my son's uncle”. How is the old
man related to Schan ?

(1) Father (2} Grandfather

(3) Brother (4} None of these

T To FEA BT AR AT TN ET WEA FEA T pHA s W oosd I A
21" g7 g7 ameet WE O R rew wafe E 7

(1) foa (2) TmT

(3) 9 @) 3 ¥ 59 N =8
15.  World Population Day is chserved on :

(1} June5 (2) July 11 {3) October 4 (4) December 10

(1) A5H @ Rl H (3 wews s (8 R
16. The largest Indian State by area is :

(1} Madhya Pradesh (2) Maharashtia

(3) Uttar Pradesh (4} Rajasthan

ST & Wi WG BT HY T8 T B

(1) ™ u<= (2) FERTE

(3} IR WY (4) TareT

17. NNPisequalto:

(I} GNP + Depreciation (2) GNP - Depreciation
{3) ONP + Exports (4) GNP - Exports

ww ) R B S

(1) oft 77 - 7w (2) o - g

(3) @ 7o 0+ Fafd (4) o g7 @ - Frai

18. Industrial Revolution started in Englami in:
(1) 16th century  (2) 18th century (3) 17thcentury  (4) 19th century

g § Al Wiy Ao w:
(1) 168 TR A (2) 164 T % (@) 176 Tl § @) 1981 moEh A

(4)
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20.

23.
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The highest literate state of India is -

(1) Mizoram (2) Goa (3) Tripura (4) Kerala
|G 7 Heiee fifde s &

I e (2) v (3) frga (4) I
How many states are there in India ?

R ¥ oy g # 7

(1) 29 () 27 (3) 28 (4) 25
What should come next in the following letter sequence ? L

P aat & w9 3 amy war gy ?

AABABCABCDABCDEABCD

‘{1) A : 2 E ' (3) C (4) B

-Which word will come in the middle if all of following are arranged

alphabetically as in the english dictionary ?

uﬁ%ﬁﬁ?r&ﬁiﬂnﬁ%ﬂﬁ?ﬁ*a‘ﬂﬁﬁm#ﬁﬁmﬁmﬁmﬂﬁtﬁﬁmm
T P91 9wy # e ?

Dorkey, Donator, Donjon, Donate, Donative

(1) Donkey (2) Donator (3) Donjen (4) Donative
Today is Monday, after 61 days it will be : :

(1) Tuesday (2) Monday (3} Sunday (4) Saturday
TR et Hwaw 8, @ 61 Reff & e e e g 2

(1) HerEr (2) Hvar (3) ¥fEEr (4) whan

The average of five consecutive odd numbere-is61, What is the difference-
between the highest and lowest numbers 7 _
mmmmmwm %,a’rmmwwmm@
& R 4= F B 2 > -

(1} 6 (2) 4 (3} 16 @ g

A is Bs sister. C is B's mother. D is C's father. E is s mother. |
related to D ? _ | Ther how js 4
(1) Grandfather | (2) Grandmother.

(3) Daughter : ' (4) Granddaugite,

(5)
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26.

27,

28.

ABHaTE CBAAE D Cw RAMTIE D& A 2| &7 =il § AT
DY @ §9& & 7

(1) amam & (2) 3y & @) = e (4) = &
34 is related to 12 in the same way as 59 is related to :

(1) 45 | (2) 38 (3) 26 (4) 14

24 FT TEET 129 S ueR W & OF B 59 @ W @

(1) 454 (2) 383 @3) 269 (4) 149

Which of the following is most energy-efficient source of light ?

(1) Tube light (2) CFL (3) LED (4) Tungsten Bulb
e 3 o1 Ty @1 e Se-eRged || ¥ 7 |

(1) TH8 WEe @) @o THe T (3) Tete Fo o (4) TET TA

A girl facing north rofates 100 degree clockwise then 190 degree anticlockwise.

What is new direction of the gisl ?

(1} North-East (2) West
(3} South-West (4) South

Wmﬁisﬂﬁﬁmﬁ&ﬁ.ﬁlﬁﬂ@ﬂﬁﬁﬂ?ﬂﬁﬂﬁ 100 & et B
o 75 o R gE @ I R A s 190 R R 2 3% A 1 T
2 ? .

(1) SR-gd P AR (2) oRw" & IR

() =froafiEm @ AR (4) =7 A AR

In the following chart given characters follow a certain trend, row-wise or
column-wise. Find out the missing character (7) accordingly :

#ﬁﬁﬁ@ﬁﬁmﬁmmﬁmﬁ?ﬂ%ﬁﬁw%ﬁmm%iﬁ
mﬁW&WW?}iWWWW?\
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30. The difference between cow's milk and buffalo milk is that :

n.

{1) Milk of cow is white but buffalo milk in yellowish in colour.
(2) Milk of cow is yellowish but bullalo milk is white in colour.
(3) Milk of cow is yellowish in colour but it contain more fat than bufffalo milk.

(4} Milk of cow is white in colour but it contain low amount of fat than buffalo

T % R IR AN D g ¥ A A 2
(1) T a1 1w wer AW B @ F7 77 Do e 2w 2
(2) 7 @1 gy e fag g @ i A @ g woe o @ e 2

(3) T &7 qu Greme Y B ¥ oem g wm o e 4 B ogw @ wure O
i -

(&) T BT Y WET T T eh & aun gl e o o AW B qu @ aw e 2

Which of the foliawing crop is not utilized for commercial production of edible
oil ?

(1) Wheat (2) Rice (3 Sunflower - (4) Maize
ﬁﬁ#ﬂﬂ—ﬁmm{mﬁmm#mﬁa%mﬁﬁmmﬁﬂﬁﬁé?
m* (2) o G T (9 T
Find out value of 7 in following : :
= 3 2 o w9 T o ?

12:30::14:7
(1) 30 (2) 28 (3 33 4 4

‘Which one will replace the question mark (7) ?
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34. Which among the foliowing SAARC nations did not figure in the "World

3.

36.

3.

38.

Happiness Report 20177 7

(1) Pakistan (2) Bhutan (3) Afghanustan (4} Maldives
T Suii W B § g o dve agee ROE 22017 4 i # 7
(1) T (2) oM (3} TR (4) WIeTaE

Who is the authar of the book "Winning Lixe Virat : Think and Succeed like
Kohii" ?

(1) Uday Mahurkar © {2) Abhirup Bhattacharya

{3) Rajesh Jain (4) Arvind Adiga

yeae “fafi o RAve © Re T qEiTE TIF Al & oEd BT 8 7
(1) SF0 HEE (2) sfree sqgramat

(3) A9 O (4) vfig sfam

At which of the following place union cabinet of India has approved (O
establish a centre of International Rice Research Institute ?

(1) NOTDA (2) Kanpur (3) Varanasi (4) Paninagar
e & g Awee S frer A REE I WSRO ot wiver=” {IRRD
3 v ) W avd @) Wipld @18 7

(1) =rer (2) HER (3} 4RO (4) UTER
Which country will host next Champions Trophy in 202172

(1) Sri Lanka (2) Australia (3) Bangladesh (4) India
qp1 ¥ 2Rt el AffrE g - 2021 @ e B W e dw H B 7
(1) Hreet (2) e fem (3) wiaAey (4) #Ted

Which is the first state in the country to open a Blood Bank for Cattle ?
(2) Kerala

(1) Goa
(3) (Odisha \ (4) Andhra Pradesh
i 7 Y AR T B fare T % Eﬂ?%@ﬁv 7 T A ?
(1) T L
¢ A5 s
351 {aunse ‘-—Jf!"" [?_.] FUI‘lg'i [33 Virye i A
oy B
i _,_ﬁ'[ji T
qwjﬂ v . (2 "’ﬁ%ﬁ& {3y wEE {4y wva
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41.

17U/116/20(Set-1)

To make curd which microorganism is used ?

(1) Acctobacter (2) Leukonostoc (3} Badillus (4) Lactobaciilus
T WA A Prefeiea § @ foa gl @1 gg fr o ¥ 2

(1) thehes (2) F@HEE  (3) Mg (4) dacrefyea
From the following which makes milk sour ?

(1) Protozoa (2) Bacteria (3) Virus (4) Nematod
Frafafe # @ fbad grr g @er By & 2

(1) Wi (2} dadfm (3) arTE (4) fers
(obar Gas mainly consist of :

(1) Methane . (2) Ethelene

{3) Acetelene (4) Carbon Monoxide

TR e & e g 2

(1) faekr | (2) gfee

(3) teifee= (4) T A S

By which constitutional Amendment Act Fundamental Duties are incorporated
in constitution ?

{1} 42nd Constitutional Amendment Act, 1976

(2) 43rd Conslitutional Amendment Act, 1977

(3) 44th Constitutional Amendment Act, 1978

(4) 45th Constitutional Amendment Act, 1980

e Wiy weter A SR STy  aer wedall @ wiufee T # 7
(1) 42a7 et wee afiffm, 197

(2) 438F WRNFE TR an“aﬁuj 1977

(3) aadk Tduifre videw RIFTE, 107

(@) 453 Wi wonw AR 198) e

(9)
FT0.
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44,

45.

47.

48.

When joint meeting of Lok Sabha and Rajya Sabha are being held ?
{1} When President calls

(2) When there is opinion difference in Lok Sabha & Rajya Sabha
{3) When Parliament Session begins

(4) None of these

et 7 TR B A d9% B8 BN w7

(1) Il SR ey

(2) S ¢e o # ATeE B W

(3) GHE & @3 FE 8 T

@) ¥ o W T

Presidential election is controlled by : .

(1) Lok Sabha Speaker (2) Prime Minister _
(3) Election Commission (4) Minister of Parliamenlary Affairs
Irgaf v @1 gea waier fan i €

(1) Freeameze gR (2) WeReTHAl R

(3) fRafem smim gw | (4) EST A @ FAl BT
"Entrance of Asia" is

(1) Saudi Arab ~ (2) Taiwan (3} Turkey (4) Japan
oftrar @7 99 g HET ¥

(1) Fod) I (2) TrEar (3) THI (4) STET
Which country is known as the ‘Land of white elephants’ 7

(1) Laos (2) Thailand (3) Kenya (4) Myanmar
R 3 @) g Efer @ fr @ W W S S e 7

(1) e (2) wefE (3) P (@) ==

I Computer Language, how many bytes are In one megabyte

Waﬂwﬁwmﬁﬁfﬁﬁﬁﬁmﬁﬁ??

) 100000 (2) 10,00,000 (3) 10,24,000 (4) 10,48,576
. - 7
. 1y one i not correctly match !
49, Which cling-West Bengal (2 Mount Abu — Rajasthan
1) Eaiia]ka ml—-T ammil Nadu (4) Shirrla—Uttar Pradesh
{3} ] .

(10)
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= % @ s fam a g g 7

(1) =fetferm - 9o @@ - (2) =GV MY - AT
(3) PIEEHT ~ THeATTg (4) Rrer - o R
Which country is known as "Indja of Europe" ? ,
{1) Spain (2) Prance (3) ltaly (4) Portugal
WY HT ARG S AW W B 39 T T & P
(1) & (2) wie - (3) Tean (4) g
SECTION =11
g |
(CHEMISTRY)
(e fawm)

No. of electrons in 1.8 ml of water is :
o 1.8 el F gt O wem

(1) 6.02x 102 (2) 3.01x 10% (3) 0.6023x 10®  (4) 6022 x 107

The volume strength of 1.5 N h};dragen peroxide solution is :
l.swﬁsﬁtﬂﬁmaﬁmﬁmwﬁqmﬁa%:

(1) 48 (2) ‘8.4 (%) 3.0 @ 80

The values of Vander Waals constant ‘a’ for the gases Oy, N,, NH, and CH, are
1.36, 1.39, 4.17 and 225 L. atm. mgle™ respectively. The gas which can most

easily be liquified is :

T 0y, N,, NH, sl CH, & Ire¥ a1 Rerts 59 1.36, 139, 4.17 &l 2.25 L.

atrn, mole™ 2 Fﬁ&mﬁmaﬁmﬂv%:

mo,  @N, (3) NH, 4) CH,

When CaCO, is heated at a constant temperature in a closed
pressure due to CO, produced wil] :

(1) Change with the amount of CaCQ, taken
(2) Change with the size of the<ontainer
(3) Remain constant as Long s temperature is constant

'(4) Remain constant everriftMmperatyre s changed

(11)

container, the

PTo
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85,

56.

a7,

58.

ue dg g H R du uwt we CaCO, o1 7 i @ 8 €O, 9 & BR™
SIS E AL B

(1) CaCQ, #1 ot 7 9 A yRecT & sea |

(2) o3 @ bR § gRadd & agenT

(3) R veT W9 g o Rex 2

(4) Rem @ W & v aRaldd w1

E® (reduction) values of the half cells Mg |Mg and Cl,|CI™ are respectively
—2.36 V and 1.36 V. The E° value of the cell Mg | Mg* | |CLICl7is -

@@ T Mg® |Mg ©d C),|C 31 B (30w} /IT F9% ~2.36 V 79 1.36 V g
&l Mg |Mg? | |Cl,[C @1 B® A7 &

(1) 372V ) (3) 0.18V (4) 264V

Among the following, the paramagnetic is :
fenfefiga 9 @ Wefes £ 2
(1) NaO, (2) Oy (3) N,O (4) KO,

When " is oxidized by MnQ,” in alkaline medium, 1" converts into :

(1) 10, (2) T, 3 10, (4) IO
o e W § MnO,” g1 I 3iiedige e 8, & I aeed ©
(1) 10, 4 (2) I, ¥ (3) 10, ¥ (4) 10

Which of the following process is used in extractive metallurgy of Mg ?
(1) Fused salt electrolysis

(2) Self reduction

(3) Agueous solution electrolysis

(4) Thermite recuchion
Mgﬂﬂqmﬁ'fﬁﬁﬂ?ﬂﬁﬁﬁﬁﬁﬁiﬁmﬁﬁﬂ-ﬁmWﬁ?ﬁ%?
(1) T8 i T AR

(2) o T

) e e SR ANE
oy e T

{12}
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58. Types of bonds present in CuSO,. 5H,0 are only :
(1) electrovalent and covalent
(2) electrovalent and coordinate covalent
(3) electrovalent, covalent and coordinate covalent
{4) covalent and coordinate covalent
CuS0,. SH.O # dfve & yor Jufleg & diger -
(1) IREAT @ T
(2) TeEES= T Peifde Eriere
(3) ToFere, Bl qul PRI i
(1) sierT Ti SRS aite=

60. Isomers which can be interconverted through rotation around a single bond

are ;

. {1} conformers (2} diastrecisomers
(3) enantiomers (4) positional isomers
STl R Tae-divs B A el P ¥ feRafiT B & 3 wed f
(1) TR () SRR TR
(3) FYRmw (4) Ot g

81. The Cannizzaro's reaction is not given by :
(1} trimethyl acetaldehyde (2) acetaldehyde
(3) benzaldehyde (4) formaldehyde
HfARY mﬂ'{_ EEIEGIES
(1) sefe Riefermes (2) Rrefeess
(3) dfcengs (4) wRifcesEe

. L hay . “‘-“H

82. Benzamide on treateriiéxit with POCI, gives :
(1) aniline (2) benzonitrile
(3) chlorobenzene " (4) benzylamine

oS POCL, & WY J97 © |

(1) Tehtel - Q) SRz
(3) aeiid (@) T

(13)
PTo
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83.

8.

Which of the following pairs give positive Tollen's test 2

(1) glucose, sucrose (2) glucose, fructose

(3) hexanal, acetophenone _ (4) fructose, sucrose
PFrefoftaa 4 @ g g e ohew ST § 7

(1) @, gee (2) TN, W

(3) toEH, TRIEmINT (4) waCH, Gh

Which of the following compounds reacts with ammonical solution of AgNO; ?
(1} 2-Butyne (2) i—But}rne {3) Ethene (4) Ethane
PR M 3 @ B AgNO, @ arifFum d 3 w waf e & 2
(1) 2-%emd (2) 18 (3) T @ e

The cyclic polymerization of acetylene produces.

(1} Benzene (2) Cyclohexane

(3) Toluene (4) 1,3, 5-trimethylbenzene

TRl &1 ol SEdIETU T B

(1) ¥t (2) AETEET

(3) e (@) 1,3, 5-ETEiAemgeAi

Which of the following molecules has all the three sp, sp* and sp” carbon
atoms ?

Prefoifae 3 9 favet oy & vl @ sp, sp? SR sp? wT TG R ?

4] CH,=CH-CH=CH, (2) CHyCH=CH-CH,

{3) CH,-CH=CH-C=CH (4) CH,CH,CH,CH,

Acetylene is produced by carrying out elecirolysis of potassium salt of :

(1) Acetate (Z) Succinate (3) Fumarate {4} Oxalate

WWWW*WW%WWW%:
reitrss A 3 4 aitqaree

) e 2 (3) T 4

The hydr&ﬂ“ﬂ of propyne in the presence of Hg80,/H,S0, produces.
ﬂﬂﬁifﬁﬁoiﬁﬁqmﬁﬁmﬁi:

(L

(14)
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69, Geometrical isomerism is shown by :

{1} Alkanes (2) Alkenes

{3) Alkynes (4) Aromatic hydrocarbons
T werETEd R

(1) e BRI (2) Teld gR

(3} UePREA gR (4) Wit eEgeET §RI

70.  The ozonolysis of 2, 3-dimethylpent-2-ene produces :
(1) Two molecules of aldehydes
(2) Two molecules of ketones
(3) One molecule of aldehyde and one molecule of ketone
(4) Neither aldchyde nor ketone
2, 3-sTgfamgate-ga a e dur &
(1) sfesezs & < ag
(2) BT & T 3
(3) TISEES @1 v& 1 iR HE BT U a9

(4) ¥ o pitseme s 7 & el _—

|
71. The IUPAC name of the compound | {3{3—(|Z-CH=CH2 is

CH,
(1) 3,3, 3-Trimethylpropane (2) 1,1, 1-Trimethylprop-2-ene
(3) 3, 3-dimethylbut-1-ene (4) 2, 2-dimethylbut-3-ene
CH,
| :
H;C%E—CH:.CHE @1 IUPAC 7% & -
CH,
(1) 3,3, 3-gEPremgamT @ 1,1, 1-grefregem.). o
(3) 3,3-3315?%1133@—1-3? (4) 2, 2-sTfergee.a.ay
72, Which of the following mmpounds exhibits (5T smomerigm, 2
(1) 2-Butene (2) 2-Butyne (3) 2-Butano]

f% B
W##WMMMW% Wanal
(1) 28R (2) 28T (3) 2- @)
| {15) T
P.T.0,
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73.

74,

5.

76.

T

78. whic!

Ethane is produced during the lectrolysis of potassium salt 5

(1Y Sucomnic acid (2) Malenic acid

(3} Acetic acid (4) Fumaric acid

G e oRfrm v @ fagge smeed § ST e SR § 7

(1) wadm o (2) Fehtm e

(3} TERE are {4) wERE s

Buna-Sisa:
(1) Monomer (2) Trimer (3} Co-polymer {4) [dmer
Buna-§ & T -

(1) U (2) ZEm (3) wESge® (4) SEw
Which of the followiny is a Natural polymer ?

(1} Bakelite {2) Nylon (3) Proteins (41 PVC
Fr 3 91 B UE wahod agee © 7

(1) damge () T (3) W (4) & M
Which of the following is an example of thermoset polymer ?

(1) Rubber (2) Nylon-66 (3) PVC (4) Bakelite
frm ¥ B 9F e 95w @1 TF SeEe 8 7

(1) &y (2) A6 (3) A (4) eberge
Nitration of nitrobenzene gives :

(1) 1, 2-dinitrobenzene (2) 1, 3-dinitrobenzene

(3} 1, 4-dinitrobenzene (4) 1,2, 3-trinitrobenzene
TEERA o1 TP T |

() 1, 2-SETEREA (2) 1, 3-STgHIgRIsi

(3) 1, 4-SFTEEEA (4) 1,2, 32T

Lof the following statement i false about benzaldehyde ?

uces Tollen's reagent
woes Cannizzaro reaction
o e

E.'.E h:d{?l mﬂdﬁng-'.a Hon
ditm hisulphite adduct

(16)

Wy it red
(2) Tt under
@) i underBd
() 1eforms 30
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80.

81.

82,
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TlCETSS W W Hie-u1 iy wee sy &
{1) 7§ e s edd B =R w2

(2) =8 Do sifdfer <o &

(3) U QoeTd WEEN 4 2

(4) ue |femm dgHerEe T T &

Following reaction is known as CH,COCH,.. ZREHE CyH + 11,0,
conc. HCI

(1) Rosenmund's reaction (2) Clemmensen reduction

(3} Wurtz reaction (4) Kolbe's reaction

frerferfer s Y w1 S @ CH,COCH, 21 -Hg CHy + H,0.

eoree JHC]
(1) 798 A afafra (2) FRA aTEEe
(3) g5 arffdmn (4) o'e B F™fpar

The correct order of sta hilit}* of the given radicals is :
(1} tertiary > secondary > primary (2) tertiary > secondary < primary

(3) tertiary < secondaty > primary (4) tertiary < secondary « primary
R ms s el s g

(1) s > mnafda > e (2) Tl > wmeafis < grufies

(3) Toire < Al > wafie (4) Jiy®w < AEaMs < qgfive

The most strained cycloalkane is :
(1) cyclopropane  (2) cyclobutane (3) cyclopentane  (4) cyclohexane

WA T W &
(1) STgaeiiied  (2) wgaetegdy  (3) QEEARS (4) TzoaRats

The IUPAC name of the compotnd HC=(-CH,CH=~CH, is :

(1) 1-penten-4-yne (2) 1-pentyn-4-ene

(3} Allylacetylene (4) 1-pentene-3-yne

HC=C CH,CH=CH, @1 IUPAC =19 £ :

(1) 1-0r-4amds (2) 1-9EF-4-§

(3) woremifee (4) 1-¥¥m.5my
(17)

PTo
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83. Optical rotation of a racemic mixture is :

(1) Positive (2) Negative
(3) Zero (4) Temperature dependent
e RFT Ao g siferes dgw §
(1) NS (2} THRINE
(3) I (4) e el
88, The compound having one isopropyl group is:
(1) 2,2,3, 3tetramethylpentane (2) 2, 2-dimethylpentane
(3) 2,2, 3trimethylpentane (4) 2-methylpentane
& AgE g B ol AAE 5
(1) 2,2, 3,3-ceiffengaics (2} 2, 2-STgfReuTEATCH
(3) 2,2, 3-ZiEiHengatda (4) 2-Fremgatca
85. The monomer of natural rubber is:
(1} Chloroprene (2) Isoprene
(3) Butadiene (4) Acrylonitrile
MHEH (& P Gdhddn g
(1) R (2) omE
(3) wHeTsIET (4) TIgaTIEEEd
B6. Which of the following polymers has ester linkages ?
(1) Nylon (2) Bakelite (3) Terylene (9) PVC
Prefafer 3 X PR TR T Tlex WARAT Wil AT § 7
(1) A (2) dFAET (3) e (4) Crérd
§7. Which of the following polymers has amide linkages 7
(1) Nylon (2) Teflon {3} Terylene (4) Polyurethane
ﬁmﬁmﬁﬁﬂﬁvﬂ@ﬁﬁwmﬁmwaﬁu B
(1) TR (2) A= (3) &= (4) diefgRea

The process of vulcanization makes rubber :

: : 2) Hard
le in wa.er (
& S{ﬁf‘?‘ﬂ (4) Less elastic
(3) S0

(18}
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91.

82.

93.

Tehrde YT TN B g &
(1) o & gaAeile (2) e
(3) HerEy (4) &9 TWEEN

17U/116/20(Set-1)

The number of 8-8 bonds in sulphur trioxide trimer ($,0,) is :

Heme TIRiRTES f (5,0;) # 55 dfvs oY wem @

(1) 3 2) 1 3) 2

Insulin is:

(1) acarbohydrate (2) an amino acid
(3) alipid {4) aprotein
FYfor ¢

(1) TF aEEEse (2) v T ofe
(3) = fafts 4) TP fE
Dunston's test is used for the identification of :

(1) glycerol (2) acetone (3) glycol

THE BT e et grEr wvS & o ga B & 7
(1) fawsa (2) TEEN (3) TEEHES
Which of the strongest acid in the following ?

Brferfiae & wa® gaer st S & 0

1) HCio, (2) H,S80, (3) HClo,

The hardness of water is estimated by

(1) EDTA method

(2) Todomeiric method

(3) lodirnetric method

(4) Gel Permeation Chromatographic method
oTel @] PoIG! 7 JAwe U o) 2

(1) EDTA & &R

©) smiRs AR g

(3) wraARw B am

(4) S TR FESTie REY gry

(19)

{4) 0

(4) ethanol

(4) geHTE

{4} ff:.ﬁﬂj

P.T.0,
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94.

95.

97.

a8.

89.

Hydrogen gas is not liberated when the following metal is added to dil HCL:
aq HCL ¥ frerfofias & @ fowr arg @1 fiem & siggiom 79 990 71 &l 2 2
(1) Zn (2} Sn (3) Ag {4) My
Important ore of zinc is

(1) calamine (2} cryolite (3) cassiterite (4) malachite
R 1 HETal SIS E

(1) dermmed (2) @RIARE (3} deeTEE (4) FremoTEe

Most reactive towards electrophilic nitration is :

(1) benzoicacid  {2) nitrobenzene (3) toluene (4) benzene
golgciied TgeeH foaal 3% s e & 7

(1) 9@ et (2) AREHGE (3) Sheqz (4) i
Acetone is mixed with bleaching powder to give :

(1} chloroform (2) acetaldehyde

{3) ethanol | (4) phosgene

R Ee B WY e B Bam @ 4 g

(1} FARTHE (2) veefosess

(3) 3ol (4) e

Which of the following is used widely in the manufacturing of lead storage
battery ?

(1) antimony (2) lithium (3) arsenic (4) bismuil
35 i ded & fmio 3§ featale | & e onoE w9 W YA EA 2
(1) @ (2) ehfER (3) ARWIFT (1) famm

1% solution of KCl is dissociated to the extent of 80%. Whai would be the
asmotic pressure at 27°C (R = 0.0821 L am K mol™; mol. wi. of KCl = 754
g/mole}

K(:]ﬁl%ﬁﬁﬁsa%aﬁﬁmﬁﬁ?ﬁﬁ%' 27°C 9 UREET Gid @d B
(R = 0.0821 L-atm K- mol ™ KC| &7 %R = 75.4 g/mole}?

(1) §21atm (2) 82.1atm (3) 595 atm (&) 59.5 atm

(20)
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Half-life of a reactions is found to be inversely proportional to the cube of initia!
concentration. The order of the reaction is

v sRfR @ slary wRfie Wi & W o1 weE e g o )
sfafthar &t wife & .
(1) 4 (2) 3 (3) 2 (4)

et

SECTION - IIf
arg =l
(PHYSICS)
(Wi faem)

Two balls are dropped vertically downwards from rest from the same point
after an interval of 1 sec. If acceleration due to gravity is 10 m/ sec”, then what
will be their separation after 4 sec from the release of the first ball ?

(1) 30m (2) 35m (3) 25m (4) 40m

<1 e B o ® fag W 1 Wo @ sFvd W Rvmawn @ A2 feen o 2 o
To Wi @R 10 W/ B W useh A @ Y B 4 Geve g o e 3
feerft g &y 2 |

(1) 30 (2) 354 3) 25 (4) 40

A person moves 30 m towards North then 20 m East and-thH'Eb&aﬁ m South-
West. The displacement of the person from the starling point shall be :

(1) 20 m South-West (2) 15 m East

(3) -30 m North-East (4) 10 m West

U A 30 # 9w W 20 A 7F o fsw 3042 W 2R g 2| R
g % s favearrs @i 2

(1) 204 <rorgfdem (2) 155093

(3) 304 wergd {4) 109 uf¥gm

A small solid sphere whe:jrﬂmgped in a viseous liquid finally moves with 2
uniform (constant} velocity, which is known as -

(1) Escape velogity (2) Critical velocity
(3) Terminal velocity - (4) Reynold velotty
Y% BICI O Mot §19 T W 5q F fivpor @ § 09 60 g
TRt % vl BT & S T e . U5 9 (Rer)
{1) wemE & (2) i gy
(3) <rT aw (4) Yew ¥
(21}
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104,

105.

106.

Twao simple harmonic motions in mutually perpendicular directions are super
imposed. If both of these motions have the same amplitude phase and
frequency. The resultant motion will be :

(1) A straight line inclined at 45° 1o both directions
(2} A straight line inclined at —45° to both direclions
(3) Acircle

(4} Anellipse

2) ey wrEaq Ave agRT R TE-gat oY SRt A ordft # 1 3l 9 @
ar wer Td sngfRvdl wAe & A §ea) JRomAl iy &

(1) 3T ol @ 45° W 99 "va W
(2) B e ¥ —45° | 77 WA wly

(3) TF T
(4) Tad drdgdm

Different colours are exhibited by white light reflected from thin flm of
kerosene oil floating on surface of water because of :

(1) diffraction (2) dispersion (3} interference  (4) polarization
Areha 3a & U ) UEE W A ueel et g Wt w9 A6 W -
o=t iflﬁ ] ﬁﬂﬂlﬁ G+ & TR

(1) ofRgme (2) Taae (3) efaeT (4) ydrPpee

The plane faces of two identical plane convex lenses each having focal lengths
of 40 cms are placed against each other to form a usual convex lens. The
distance from this lens at which an object must be placed to obtain a real
inverted image of the same size (magnification unity; :

(1) 80cm (2} 40em (3) 20em (4) 60 cm

4Gﬁrﬁm‘=ﬂ{ﬂmﬁﬁqﬁ-@ﬂbﬁ e FOE ofFl & REd wdd T weR v B
o o o ¥ g o @ R T W feed @ v o fF e

=
e 1‘[ o T T HA e (g YT} @ T

s (2y 40 T {3) 20 iy (4} 60
{1}

(22)
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I Young's double slit interference experiment the wavelength of light used is
6000A. If the path difference between the waves reaching at a point P on the
screen is 1.5 microns then at point P :

(1) second bright band occurs (2) second dark band occurs

(3) third bright band occurs (4) third dark band occurs )
& R eftexr warT ¥ 6000A wénded @1 e wdm fmr mar &) wf
& Pfawg Ut uggy ol 990 & A gy 1.5 WgshiE & @ g PR

() &l o o e & 2) fadrg wdhe enfiuf e &
(3) T o et faedh # (4) g ardher enfRat R 2

The Brewster's angle for a glass slate (1 = 1.5) immersed in water (p = 1.333) is :
T (u=1.333) % @ O (u=1.5) & aRar & o quew wio &
(1) 56.31° (2) 33.69° {3) 20.6° (4) 48.4°

The electric potential at a point inside a uniformly charged spherical shell of
radius R

(1) is constant {2) variesasr
‘ 1

(3) varies as— (4) varies as L

r r

where r is the distance of the point from the centre of the shell.
R 3 @ w91 9 ¥ endf g et wie @ eray e ey oe Ry fae

(1) e & (2) r o oRaf & &
(3) — % wRaff g 3 @ = 9 e e

WE 7Y W @ B W g @ gl 2

Five resistances are connected as shown it figure below. The effective
resistance between the points A and B is

uTe wfeelf @ e RErger wier mar &) fagat A o1 B mea ward ofey #
20

(1) 6Q @) 150 (3) _139.9 g 2

P.T.0
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111,

tt12.

113.

114,

115.

The magnetic flux linked with a circuit of resistance 100Q changes by 500
Webers in 10 seconds. The amount of induced charge (in coulombs) that Hows
in this circuit during this time is :

et 1000 afeser & uRue d Fom TS doied 10 Wo § 500 a7 9 oRafe &
W E T o3E 9y d gen ' A gaifda @9 o uRe ey o1 9 sEme 4
&P

(1) 05 s (3} 50 (4) 0.0

The common base current gain ¢ of a transistor is 0.95. The transistor is
connected in CE configuration. What would be the change in collecior current
when the base current changes by 2 mA ?

B Tieaver © ol A o & oRT oies o A 0.95 2 aun orftemee
P YA IeEes g B eiver T #1 3R R 9 A 2 mA oRads & oA
worEr e ¥ feasr aftads g 7

(1) 1.9 maA (2) 38 ma (3) 19mA (4) 24 mA

The half life time for a radivactive substance is 5 hours. How much quantity of
lhe substance will decay in 20 hours ?

el WFean wfora wered &Y argany 56 81 20 € N 479 gY ward @t A g 7
(1) 93.75% (2) 6.25% (3) 75% (4) 25%

A concave mirror has a radius of curvature of 3 em. The distance at which an
object must be placed in order to give a virtual image magnified by 5 times, is:

(1} 1.8 em (2} 2.5¢m (3) 1.2em (4) 32 em

T s TU @ amar e 3 O | wwg o o & T gl wovar @ s
FIoUE @9 & SR 5 T 9gRT Ml 7 |

(1) 1R (2) 2590 (3) 1.299 (4) 329

Which of the following statement about spectral line series of hydrogen atom is

correct
(1) Lyman series 1s in infrared region

(2) Daschen serics is in visible region

(3) Balmer series s partly in visible region and partly in ultraviolet region
i4) Ralmet series 1s in infrared region

(24)
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EESNE WA & TimA Wi Aol ¥ gy frafafiee § 9 ot oae wd
g7

(1) @ St arawa & o B @

(2) wreaT Soft gy a= ¥ B &

{3) == At i geu 8= v i W ¥ anh d
(4) PR A9 arawaT &3 W exft @

The knee-voltage {cut in voltage), a PN junction diode is :

(1) 0.2 volt for Si and 0.6 voit for Ge diode

{2) 0.6 volt for both 5i and Ge diodes

(3) 0.2 volt for both Ge and Si diodes

{4) 0.6 valt for $i and 0.2 volt for Ge diode

fsedt PN-#f% eralfe # -fwe (@ 3 fiva) &1 9 By 3

(1) Referer srire @ fom 0.2 diee aer weifias srive 3 R 0.6 diee
(2) Riferm= w4 sAfram 21 sRive & forg 0.6 A

(3) wfaw o faforem <t e & farg 0.2 At

(4) fafem erte 3 fory 0.6 Aree ey e 3 R 029

Two point charges Q and -2Q are placed at some distance apart. If the electric

.-.’
field at the location of Q is E then the electric field at the location of -2Q will
be:

Al R ST Q T 2Q B 3@ W v ¥ AR Q B W R g &9 £ & at
—2Q % Wi W fag &5 8 :

(1) 2E (2) ~E 12 3). ~E @ E

By mistake a voltmeter is connected in series and an ammeter 5 connected in
parallel with a resistance in af electrical circuit. What will happen to these
measuring instruments ? '

(1) None of thern will be damaged (2) Both will be damageq

(3) Only voltmeter will be damageq (4) Only ammeter wiy be dama ged

2
v PT.0.
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119.

120.

121,

122.

Tt W fedl fagg wRue 4 tw vRae @ dvtes i doeder qun TR R 4
U =T R G ¥ 29 Syt W oam weE g v

(1) ¥7 Samevll § & P wog T8 g (2) EF IS GYE B HE

{3) HIF A HieR wag BN (4) STt UNHE TEE BT

Which one of the following particles will describe the circle of smallest radius
when these are projected with the same velocity perpendicular to the magnetic
field ?

(1} £i7 ion (2% He™ ion {3) Proton (4) Electron

M ET @il W P o GO S AN B g §HE e ) ey
3 ) wgag B ¥ oo A a7 9 vy e e 8 ?

(1) Li* amm= {2) He™ a7 (3} e (4) gogT™

An electric wron (press) marked 2 kW and 250 Volt. The resistance of the heating
element of the press is :

(1) 625 ohm (2) 125 ohm (3) 31.250hm (4 5x 10°chm
vw faee amR §F) 9% 2 kKW T 250 Te afthd 2 $We TG o, B iR
LI

(1) 62.5 3™ (2) 1253 (3} 31.25afs (4) 5x 10°3m

The dimensional formula of universal gravitational constant G is:
e e Fadie G @ e g R
(1) M'rAr? ) M~Lr? (3) ML2T™? @ M7

The moment of inertia of a body about a given axis is 1.2 kg/m” To produce a
rotational kinetic energy of 1500 joules starting from rest an angular
acceleration o = 25 rad/sec® must be applied on this body abour that axis [or a
period of ;

(1) 2sec (2} 10 sec {3) 3sec (4) 4 sec

) fave @7 wree et it s @ uRa 12 fme/Hie” 21 st 1500 o7 wobw
S KA fBrr wrfy e o = 25 Y3ud/d6° 3 9w fve w g
g @ Ul (Hd GHE G5 @ A

1y 2% (2) 10% (3) 5% (4) 4 %0

(28)
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126.

127.
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[f the RMS value of the AC voltage across the secondary of the transformer in a
hatf wave rectifier is 9 volt. The maximum DC voltage across the load without
any filter is about :

1) 10V 2) 4V (3) 8V 4) 6V

forelt o Rt # graweR = fidhas 4 wRa: weed! ar &1 of w_g g
(3RoTHOTHo) e &7 W19 9 AT 7| IR W i (Sowfie) v & AF T
w1 e wE we (foree) Ry T g &

(1} 109 (2) 4% (3 8a= @) 6d

The impurity atoms with which pure Germanium should be doped to make a
N-type Germaniurm : :

(1) Sodium (2) Boron (3) Antimony (4} Aluminium
g AT (Ce) @ =1 ¥ B ammer wrApl @ wed e @n B o
N- VPR & Sdaes ¥ a7 an

(1) Efes (2) aIRM (3) wEm (4) TeygHfrH
The moderator in a nuclear reactor functions in the following way :

(1} Absorbs neutrons (2) Absorbs thermal energy

(3) Slows down neutrons (4} Accelerates neutrons

e Aot ¥ HAqd e ueR W F weer ¥ |

(1) =Tt ST 9o (2) ol e @1 st

(3) ~FHi ® 1Y B T ey & (4) g & Oy @1 ge) doT &

An inductor of reactance 10 and a resistor of 242 are connected in series to the
terminals of 2 6V (rms) a.c. source. The power dissipated in the circuit is :

10 TR & fordl IR 1 20 9RR 3 e TRRNE B 6 V (rms) @ e
U S W AvieE § e T &1 Ry # s el @ e 2

(1) 8W (2} 12W (3} 149W - (4 18W

In a permanent magnet at room temperature :

(1) Magnetic moment of each molecule is zero

(2) The indivudual molecules have non-zero magnetic moment which are )]
perfectly aligned '

. {3) Domains are partially aligned

{4) Domains are perfectly aligned

(27)
P.T.O.



17U/116/20(Set-1)

128.

129.

130.

TR @ o R fH el g #
(1) velis 319 &1 greabd agel e B §)

(2) SR SreAT-aTelT Ul & TN R AT B € o oot wfew g #)
(3) EPF aiTe: WiReT B ¥

{4) W4 U WRftea 8 &)

Change in temperature of the medium changes :
(1) Frequency of sound waves
(2) Amplitude of sound waves

(3) Wavelength of sound waves
{:i} Loudness of sound waves

AREDH @ g giage €

(1) waly T oY smgfa ofvafifa & eh 81
(2) e TR W AT AGE A 2

(3) efr el e qeTiEd 9@ W #
(4) =l adil o weaenT 9o W 2 |

The displacement of a particle is given by x=(t-2)" where x is in metres and f
in seconds, The distance covered by the particle in first 4 seconds is ;

(1) 4m (2) 8m (3) 12m (4) l6m

et O @ [T y=(t—2)° Fwla [y o §, O x dre’ | v + aos o
AT TH ¥ | TR 4 Sde § B R a9 & 7E gh ¥

(1) 4m (2) Bm (3) 12m (4) 16m

An electron is moving with an initial velocity v= UEE and is in a magnetic field
B= an . Then it's de Broglie wavelength.

(1) Remains constant

(2) Increases with time

(3} Decreases wilh time

(4} [ncreases and decreases periodically

s Toagi frer TREE AT v=gyi & e g B=RBy # niyam &
50 GO T gpe o9 g9

(1) TR e 8

(2) TAT & A agd B

() oYy # W Hed! &

4) ] U dEl R e
(28)
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Hole is :

(1} an anti-particle of electron.

(2) avacancy created when an electron leaves a covalent bond.
{3) absence of free clectrons.

{4) an artificially created particle.

HERIGIES

(1) golag &1 yfersor

(2) wEHdel AT | ¢ g™ @ ed o W Sw~ Rt
(3) g0 gaEgl o suRefy

(4) P wa 9 YR a5 @

In a Young's double slit experiment, the source is white light. One of the holes
is covered by a red filter and another by a blue filter, In this case :

(1) there shall be alternate interference patterns of red and blue.

(2) there shall be an interference pattern for red distinct from that for blue.

(3) there shall be no interference fringes.

(4) there shall be an interference pattern for red mixing with one for blue.

I B BRA ¥ 6 P wew e 3 o B 1) are e @ aw R
2 3R g B e heex A1 g9 g ¥

(1) @& w1 et 7 & T Ao dest g

(2) o1E qu A T B yers-gere geE el fed 2|

(3) B3 N aftweo s 78 2nf |

(4) o0 1 7 9% Afde ded ve 1D W Q99 G @ Ml &g

When a horse pulls a cart, the latter moves because of :

(1) The frictional force due to the road acting on the cart

(2) The frictional force due to the toad acting on the horse

(3) The pull of the horse on the cart being gréater than the force of reaction on
the cart

(4) The pull of the horse being greater than the force of reaction on the horse

W g TR W e R, 91 R R weer F iR e &

(1) TSF & T 97 & MY W fFa awy @

() s BT B AR R Bwsma

(3) Y B G P W T R T A SR G ¥ als B B e

() zﬁémwaﬁaﬁﬁﬁﬂﬁmwﬁmﬁvﬁ&mwﬁmﬁagﬁﬁwm
(29) PTO.
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134.

135.

136,

137.

If the firme peried of a simpie pendulum is T its kinetic energy is also periodic
with a time period :

U WERY AT ol Hial] S T 2 dr Iue afew s A aradr 86 aer
THET Al FTE B

(1) 2T ' 2 T 3) (4)

e |

ra |~

For light diverging from a peint source :

{1) The wavefront is spherical

{2) The intensity increases in proportion to the distance squared
(3) The wavefront is parabolic

(4} The intensity at the wavefront does not depend on the distance
v Ry o W g g e T forg

(1) T e 2

(2) am gl & Erf". ® arqura # "o 2

(3) a9 waaRe (iRmEifes) 21

(4) TEMT O¥ I g6 U% AR Al B9 |

Two cells of emf's approximately 5V and 10V are to be accurately compared
using a potentiometer of length 40{cm.

i) ‘the battery that runs the potentiometer should have voltage of 8V.

(2) The battery of potentiometer can have a voltage of 15V and R adjusted so
that the potential drop across the wire slighlly exceeds 10V.

() The ficst portion of 50 ¢m of wire itself shouid have a puta:ntial drop of 10V.
(4) Potentiometer is usually used for comparing resistances and nol w:ultages

5V adr 10V wfme fo a0 @ @ ﬁqﬁa‘rﬁwqmﬁﬁqﬁm%c .
@ [yaedl g ol Wi B

m fpqeemdy o SugiT 2R arell d29) @ dieTaT 8V g =gy

2) fowarrd @ dieear 15V & Wl 8 a1 R # 50 THR QR oY wey B
B aie @ it o fovauma 1wﬁaﬁaaﬁmﬁ|

(3) T=d e B YRS 50 o AT TR R 10V B anRy
(@) B @ i 9 SR ) ger B fo R v & R 8 fory

The dimension of torque is same as that of :
(1) Impulse (2) Momentum  (3) Power (4) Energy

(30)
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139
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TogE o fam 7@ & @
(1) e gt (2 T & (3) IR o & (4) St @ 2

1 mile /hour speed is equal to :

(1) 4.46 m/sec (2) 0.447 m/sec

(3) 1612m/sec . © (4) 3213 m/sec

1 Arer /der  fr e 2 | §

(1) 446%0 /W0 @) 0.447 Mo /¥o

(3) 1.612 40 /Be {4} 3213 %o /o

In an inelastic collision of two objects the following is not conserved :
(1) Momentum (2) Total énergy

(3) Kinetic energy ~ (4) Potential energy
Y Fwgell A S TaR ¥ PR &1 weer T e
(1) & . (2) g1 Sl

(3) R wHa (4) Rerfiw wo

The time T required for a planet to complete one revolution about the sun in an
orbit with semi-major axis # and semi-minof” a¥is b satisfies the following
relation ; :

T i T r’
(1) TEF.=mr|5t._ (2) h—3=mnat. (3) 7= const. (4) 2 = const.

T 7E @ G 7 ow e o W F T 9 @ & o @en @ ay F a-
¥ A ¢ T AR-AER e b Tl wae @) gge over &

T.E y Tl - .I.i . T}' ‘
(1) aT=ﬁemﬂf (2) F=ﬁﬂm$ (3) :Liﬁw (4) F:ﬁmﬁ

For a satellite in & circular.orbit following conditions holds :
(1) Kinetic energy is greater than potential enargg,

{(2) Kinetic energy is less tham potential energy

(3) Sum of kinetic and potential energies is positive

(4) Sum of kinetic mﬁﬂl-mergies is negative

(31}
} PT.O.
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142,

143.

144,

145.

146.

U JAGI el § T ol e @ ford e ud o e #
(1) ot o Rafda o=t & sfre endy 2

(2} Wity ol Rufds wal & o= 2 2

(3) 7w vq Rerfre = ® 9 9Tee B 2

(4) ufdd 19 ReIfas &l &1 3 s 200 8

An organ pipe open at both ends has a fundamental frequency 400 Hz. If one
end of the pipe is now closed, the fundamental frequency will become :

(1) 400 Hez (2) 200 Hz (3) 546 Hz (4) 600 Hz

UF aift fem SRR R oger & @ SWe 400 e q@ el 2 T
Sw w0 sH wg o) e A, d g smgf 8

(1) 400 gt (2) 200 gt (3) 546 TCw (4) 600 geu,

Two masses of 1 gm and 4 gm are moving with equal kinetic energies. The ratio
of magnitudes of their linear momenta is ;

1918 3R 4 9 @ 91 79 wae i ot @ TRy R @ €1 e e e
& URATT BT ST enT

(1) 4:1 2y 2:1 (3) 1:2 (4 1:16

If two adjacent walls and the ceiling of a rectangular room are mirror surfaced,
the number of images of himself as observed by an observer will be :

IR MR AR B €1 amra # ad et st wa o woe wowdw @ R
AT 2 A v gr w4l @ v < A

(13 (2) 5 (3) 7 (4) 9

A man whose weight on earth is 500 N, is lifted to a height of two earth's radii
above the surface of earth, His weight will now be :

oF el W AR T < 500 N 8, SUel IR gl @ wee d gl o)
Pron & AV SAE aF @ SN ¥ | SHRT AR 39 #1
(1) 500N (2) 166.6N (3) 556N (4) 0N

A car rounds a curve of radius 40 m at 48 km/hr. The centripetal acceleration is :
wm4DW%ﬁT$ﬁTﬁEWE 7¢ 48 o /do W R ¥ gEh }| Svw
i T

@) adtm/sect () BBUm/isec () 8T m/sect () 243 m/sed
(32)
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149,
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151,
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The 5.I. unit of inductance limes capacitance is :

(1) Second’ (2) Volt (3) Ohm 4) Herlz
(N x HTROT O WSS IRy T ¥
(1) Jpve? 2 = (3 @ (4) s

A 15 p F capacitor is charged to 60V. The energy stored in the capacitor is :
UF 15 pF & Hemla &1 60V & 4l awt ¥ | wufs § ol ot 8
(1) 0.027] (2) 0.039] (3) 0.054] (4) 0.092]

A2 i F capacitor is charged to 20 V and then connected across a 6 p H inductor.
The maximum value of current is :

(1) 11.5 Amp (2} 20 Amp (3) 15.5 Amp (4) 9.5 Amp

U% 2 y F &TRar 3] S1Ra 20V 7 smaRnr far v & oik 6 u H o © WS
fecary mem R a1 Ty W= R

(1} 11.5 vRmR (2) 2.0 YR (3) 155% (4) 9.5 ¢rER

The earth's radius is 6.37 x 10° m and the earth is 1.5 x 10° km away from the
Sun. The fraction of radiation emitted by Sun as intercepted by the earth is :

geh @1 st 637 x 10° o & Y W @ 7 15 « 10° Blo 28 W 2| 0t
Feafofer swrer &1 W W) yedl W g, &

(1) 451107 2) 1.82x 10 (3 45x107" @) 6.21x107"

SECTION - IV
qrE -1V

BIOLOGY (Botany and Zoology)

Wfa-Rem (erafy w@ mitn R
Ficus is an example of which kind of inflorescence ?
(1) Spike o (2) Racerne
{3) Cyathium (4) Hypanthodium
mrEed [5G UBR & [uUsa B 9w § 7
{1) wzE - {2) Y
(3) wmafay (4) B

{33)
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152.

153.

154,

15%.

156.

157.

Bicarpellary gynoecium and cblique ovary occurs in :

(1) Mustard {2) Brinjal (3) Wheat {4) Onion
fexred s 19 vy sem arn o #

(1) ot ¥ (2) &= = (3 N H (4) =T ¥
Photorespiration takes place in:

(1) Mitochondria (2} Glyoxysomes

(3) Peroxisomes (4) Golgi bodies

yepTeT e b e B 7

(1) wrgemifrga (2) TATZTERINTRT

(3) TRoftFSRAT (4) T I

The first CO; acceptor in C; plants is
Co el A COy a1 werw wtant §
(1) PEP. {2) Ru.B.P. (3) P.G. A. (4) O.A A

The hormone present in the liquid endosperm of coconut is :

(1) Ethylene (2) Gibberellin (3) Auxin (4} Cytokinin
RIS & ove oy § o W e B E
(1) serTgel= (2) ToreRed (3) aiffae - (4) wgErEElE
"Molecular Scissors' used in genetic engineering is : |
(1) D.N.A.Polymerase {2} D.N.A.Ligase
(3) Restriction endonuciease (4) Helin:ﬂseu
syl afmfe # vge & areht orgfaw @ (FreNageR o) B
(1) o [Ho Vo HAARS (2) $o THo Yo AT
(3) g TergRET (4) BeltEs
In India, tropicai rain forests are found in
(1) Darjeeling (2) Andaman
(3) Rajasthan (4) Jammu and Kashmir
e ¥ SOHICTRG & AT AR E
(1) ARl w (2) 3o ¥y
i §) o vd &R |

(34)
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158.

160.

161.

162.

The major source of methane in India is :
(1) Rice Fields

(3) Sugarcane -

RE ¥ Mo+ &1 g Wg ©
(1) a9 & &

(3) TN

Opium is obtained from :
(1) dried leaves _

(3) latex from unripe fruits
A gy fsar W &

(1) wuir ot &

(3) R 9 well B v 9

Sunhemp is obtained from :
(1) Crotolaria juncea

(3) Musa textilis

g A A o R

(1} wiciarar o~y ¥

@) 7 verghin @
Amino acids are :

(1} Negatively chargeﬁ

17U/116/20(Set-1)

(2) Wheat Fields
(4) Fruit Orchards

@ |RF @

(4) well B T

(2) roots

(4) latex from ripe fruits

@) Wt
(&) T ol B e

{2) Cannabis s:r.tim

(4) Cocos nucifera

(2) PHRT Tersar &
(4) PrFerseiey 3

(2) Positively charged

(3} Zwitter ions | (4) Cations

3 et B €

(1) FOTHE AT (2) e STATR

(3) wdrex ama (4). BergE

In ferns, the xylem is :

(1) Exarch (2) Mesarch . (3) Endatch @) Pot
od dTm A s
(1) [T (2) forer (3) EaciL (4) i -

{35)

PTO.



17U/116/20(Set-1)

163.

164,

165.

166.

167.

168. Double

Licopodinm is commuonly known as :

(1) Horse tail {2} Club moss (3) Quill wort {4) Stone wort
HEHANSTT THAGA] AT T B
(1) BRI &% (2) @ A (3) fae o2 (4) wHA ==
Pollination in cycas takes place through :
(1) Ant (2) Water (3) Bat (4) Air
Ased # TRITT g 2
(1) Azt gw (2) urt ERE (3) @m4s gRI (4) § BN
During meiosis, crossing over takes place at :
(1) Leptotene stage (2) Zygotene stage
(3} Pachytene stage (4) Diplotene slage .
AEIE T @ e IR AE B 8
(1) oA Hgwen § (2) FRPIER srel |
(3) A srorern ¥ (4) feehd ammer
Primary precursor of I A. AL is:
(1) Teyptophan (2} Tyrosine (3) Leucine (4) Methionine
L A. A. @1 grerf st @
(1) ek (2) feddr (3) =gdH (4) Wiz
Link between Glycolysis and Kreb's cycle is:
(1) Citric acid ' (2) Succinicacid
(3} Acety) Co-A (4) Fumaric acid
i @ dw wh 3 da a8 A §
2 e
() fufem are (2) =i

iiranded R.N. A is present in
(2) Mitochondria

1) Reo yarus
(4) Chloroplast

{3) Bacteria

(36)
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LT 3o To To UG I ¥

(1) e ¥ (2) weerRifgar #

(3) oftary 4 (4) TR ¥

Polyembryony is found in

(1) Citrus (2) Litchi (3) Coconut (4) Tomato
EECUnIR AT

(1) g ¥ (2) ot 3 (3) TRTw (@) e i
Pneumatephores are found in :

(1) Mangroves  (2) Cactus (3) Lichens (4) Bryophytes
~HErmRl wE T ® -

(V) =g # (2) T ¥ (3) eEdw (4) shmrgey

Coconut milk is used in :

(1} Dairy industries (2) Cosmetic production
{3) Fermentation {4) Tissve culture
TRAE &1 oW (Prwie fiem) wga i & -

(1) 3= sem A (2) Ered THER FuReE
(3) fFvgs _ (4) waw Hex F

R. Q. of fatty substances is generally :

(1) Lessthanome - (2) One

{3) More than one (4) Ten

e G @ 3o we (RQ: S g &

(1) & ¥ oA (2) UF

@) @ B R @ zw

Ramsar convention is related tﬂ@‘fen'atiﬂn of :

(1) Tiger (2) Birds {3) Wetlands (4) Elephang
1) (2) ﬁi‘%'m (3) amfd (4) g
(37)
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174,

175h

176.

177.

Perisperm in seeds develops from:

(13 Funicle (2) Nucellus

(3) Hilum (4) Ovary wall

drfl  oRym o (Perisperm) 977 & -

(1) wyHfFe & (2) frawsHE 4

(3} TTRWA 9 (4) srmerem ARk @
Heterospory and ligulate leaves are feature of :

(1) Ferns (2) Lycopodium (3) Marsilea (4) Selaginella
fer e v ferere iRl o §

(1) 4 & () FEEARTT S (3) AR E () Hakr B
Maltose is :

{1) Monesaccheride (2) Disaccharide

(3) Pﬁi}rsaccharide {4) Oligosaccharide
AEERd @

(1) ATESHTES (2) TFEINES

(3) diehdeEs (0) Sfermesase
Androstenedione is produced in :

(1) Granulosa cells (2) Leydig cells

(3) Sertoli cells {4) Sperms
ygeTeEals Twmed B 8 |
(1) e PRE (2) R SR §
(3) e BfS A (4) ¥R

178. Starfish belongs to phylum:

. (2) Coelenterata

(1) Porifera
@) Echinodermata

(3) Protozo?

ﬁﬂﬁ;ﬂmﬂﬂ?‘:ﬂﬁﬂ?{mﬁ?

0 (2) Regwver
“; 4 (4) g
(3) M

(38)
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182,
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Nerve net system is found in :

(1) Planarians (2) Insects {(3) Hydra (4) Earthworms
4 Ae fawew yar o | '

(1) wvRdgd  (2) oA 1 (3) T A (4) dgen ¥
Antibodies are produced by

(1) Blymphoeytes (2} Macrophages

(3) T lymphocytes (4) Erythrocytes

GO e Bt # - |

(1) BReremges gr (@) o g

(3) TRy R : (4) vReirTseE B

Most abundant white blood cells in human blood is :

(1) Basophils (2) Eosinophils  (3) Neutrophils  (4) Monocytes
e TR H TE SIET WY T i v s &

(1) ¥efrey (2) s (3) R (4) ArerecH

Catecholamines are generally secreted from :

(1) Zona reticularis (2) Zona fasﬁﬁﬂata
(3 Zona glomerulgsa (4) Adrenal medulla
FEHIAHEF AT T o & '
(1) W WgaRke 9 ' (2) S detgeler W
(3) TR TR B (4) TS Agew &
Ultra-filtration of blood takesplace in :
(1) PCT of renal tubules (2) DCT of rena) tubuieg
(3) Bowman's capsule ' (4) Loop of Henle
v o e BRm g T
(1) q7& eg=ged & PCT# (2) ﬁaaaregqaqa‘;[}cw
(3) d B I (4) &% gy ¥

(38)
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184.

185,

186.

187.

Urea is secreted into the med ullary interstitium from :

(1) Descending loop of Henle (2) Ascending loop of Henle
(3) PCT (4) Collecting duct
e Agert gevediRrn ¥ wfda w @

(1) & & R T A (2) T @ IR o B
@) PCTA (4) wAfEET 9 o
Inactive pancreatic trypsin is activated by :

(1) HCI (2} Na and K*

{3) Enterokinase. (4) Lipase

ARy sfsraee R w B 8

(1) HCIgm @ Na*wm K*EN
(3) FRAFEE T (4) 3 FNT

Stroke volume of normal human heart is :
TR AT g2 @ ATETE Y AT R

(1) 70 ml (2) 140 ml {3) 500 ml (4) 2500 ml
Deoxygenated blood is carried from human heart to lung through :

(1} Pulmonary vein (2) Pulmonary artery

(3) Vena cava ' ' (4) Aorta
mﬁrﬂ?ﬁﬁmﬁﬁﬁagﬂﬂq}mﬁﬁﬁwm%:
[:1}t|f.=:ﬂ=r\"rf$m§m‘r (2) TR g g

(3) &= el GRT (4) weiet g

188. Tricuspid valve guards the blood flow between ;

(1) Rt Atria and Rt. Ventricle
(2) Lt Atria and Lt. Ventricle
Ry, Ventricle to pulmonary artery

(3)
(g) T4, Ventricle to 207

(40)
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STEBRTS e TR WaTE W ver ey & -
(1) et anfean vd afdh dfymer & g
@) R s o ot R > 4

(3) TRA Mwet ¥ v e B g
(@) T W vt D
Cardiac output is increased by :

(1) Sympathetic neurons of ANS

{2) Parasympathetic neurans of SAN
(3) Cortisol

(4) PON

FISTS FSeye Taar & -

(1) ANSS Ritdfes wrfg gmr -

(2) SAN T WRiRIRS <Ry 2wy

(3) sifdTa gmr
(4) PON ER
Inspiratory reserve volume of normal human lungs is :
T AT B} TR Refe dfep 2 -
(1) 500 ml (2) 2500-3000 ml - (3) 20001100 reg (4) 30003500 ]
Binding of oxygen o hemoglobin is known as :
(1) Oxidation : (2) Reduction
(3) Oxygenation - (4) Oxido-reduction
SHINfas & fory Aot & a P sy -
(1) S ] (2) e
(3) sfediafra @) sRer-Remra
: . {41)

PT.0.
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192, Which of the following favours the dissociation of oxygen from the
oxyhemoglobin at the tissue level ?

(1) High pCO, ) Low pO,
(3) High H” u:uncentratiar; (4) All of the above
WWWMW\W%&W%_QWWET&W#%W
e @Rl 87
(1) 9w pCO, (2) P pO;
(3) s= H* wigal © (4) SwEE WA
193. Tn human, autoexcitable action potential is generated firstin:
(1) AVN (2) SAN
{3) Bundle of HIS (4) Purkinje fibres
e 3, P fr aed T 9 g
(1) AVN# (2) SAN H
(3) HIS® ¥ (1) R wEEE A
194, Bile salts are made in::
(1) Pancreas (2) Liver (3) Duodenum (4) Stomach
qIgd A & - I
(1) e (2) ug # (3) e # (4) e A
185. Animportant featuré of human evolutionis:
(1) Increase in heart size (2) Inerease in limb size
(3) Increase in brain size (4) Loss of tail
e T 1 FEeaget foRTeEn 8
mgﬂqﬁmﬁﬁ @) fora @ IBR ¥ 9§
{3}#@5@21?%"*% (4) o @ ol

- (42)
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Which of the following is scientific name of Pheretima posthuma ?

{1) Leech (2) Neris - (3) Earthworm  (4) Tapeworm
BAfCHT TRYAT (Pheretima posthuma) e # ¥ frge denfires w8 7
o @R @) Fg (@) Pt
Which one of the following is rot an absorbent organ in humans ? |

'[ 1) Nictaﬁng. membrane - {2) Ear Shell muscles .

(3) Flat front teeth @incisors) 5 Virmdfinenaprandiz

=7 & 3 e-ar e & e st a2

(1) P gt (2) Forw wiEARTT

(3) WA T uR e (4) TwH vifewy

Biopsy is related with

(1) Post mortem done to know the cause.of death
(2) Examining in unconscious state

(3) Separating tissues from the body for examination
(4) Tréating hydrophobia -

Tiard (Biopsy) g & ¢

(1) Y &1 FR9 WA & forg v frades v @

(2) ¥l @ Fefy & adeor w @ o
(3) e @ fov Faat w v § o T @ P

(4) STERIBIEAT BT TUER A |

After birth in humans in which tissue there is no cell division ?

(1) Skeleton - (2} Nerve (3) Connective  (4) Genital

= S a1 AT @ R 7 4 D ey o 78 B 2 o

(1) ®are (2) . .- (3) Tt (4) o
(43)
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200. Match List-I with List-I1 and choose the correct answer from the code given

below :
List-1 (Discaverer) List-II (Discovery)

A Gener i Blood Group
B. Watson ii Penicillin
k. Landsteiner 11 Vaccinization
D. Fleming iv Double helix

Code !

A B C D

(1) i i i

(2) iii v i 1

(3 m i i it

(4) i1 it iv i

A TN B w e P ok e R g @ ad s gt
-1 (@) w11 (@)

A TR 1 Hiew it
B. e ' ii gt
C. e 1ii G R
D Teh AT iv fggued
F’ r
A B C D
(1) iu i ii iv
(2) il v i i
(3) wi v i 1
4) il i iV i

(44)
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